Seat No.: Enrolment No.
GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER — « EXAMINATION - SUMMER-2015
Subject Code: 362401 Date: 30/04/2015
Subject Name: Electrical Drives & Control-II
Time: 10:30am to 1:00pm Total Marks: 70
Instructions:

1. Attempt any five questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. Each question carry equal marks (14 marks)
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Draw basic block diagram of electrical Drive and explain each block.
For speed control of Induction motor explain stator voltage control method.

Draw neat torque-speed characteristic of Induction Motor using appropriate
notations for all three possible modes and explain any one mode in brief.
Give the comparision inbetween AC and DC drive.
OR
List application of electrical drives and explain any one with diagram.

Explain close loop speed control of induction motor using variation of v/f
control method.
Draw various thyristor circuit configurations for 3-® induction motor speed
control.

OR
Explain close loop speed control of induction motor using variation of stator
voltage.

Explain Voltage Source Inverter with suitable diagram.

Discuss cyclo-converter fed Induction Motor Drive.
For Induction motor explain conventional scherbius system.

OR
For Induction motor speed control using frequency control method. Discuss
following modes: (1) operation below rated frequency (2) operation above
rated frequency.
For Induction motor explain static rotor resistance control method.

For Induction motor explain static scherbius system.
For a IGBT based “full bridge voltage source inverter” sketch various
waveforms for R and R-L Load at a=30".

OR
For Induction motor explain conventional rotor resistance control method .
For a cylindrical rotor wound field motor(synchronous motor) draw (1)
equivalent circuit of a cylindrical rotor motor (2) power angle diagram of a
cylindrical rotor motor.
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